Class 2 worksheet 1 Maths

1)Tell the amount of notes:
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49B 494723 )

a) 35 b)25 c)55 d)45

2) The Houses of Jashneet, Ramandeep and Parneet are on the same street in
sequence order. If the house number of Jashneet is 78 then what will be the house

number of Ramandeep?

a)79 b)69 )89 d)59
Jashneet Raman_deep Parne;et

=
/@ 78 B

3)Find the partner of this Fish?




4)Choose the correct nest of the bird:

2tens " + 9 Ones

(5). Which is the smallest number among the following

Tens |Ones

1 3

Tens'Ones Tens Ones Tens Ones

4 3

a b c d

3 1 3 4

(6.) Gurleen has started counting on interval of 5, what is not coming in between?
a. 25 b.27 ¢35 d.40
(7). 60 +9 makes

a. fifty nine b. sixty ninec. thirty nine d. ninety nine

(8). 53= tens ones
a.5,5 b.3,3 ¢354d.5,3

(9.) Which house number has the greatest two digit number?

(10). Harjot has scored 27 runs and Tanisha has scored 17 runs. Who is the winner of
the match?

Harjot
Tanisha
27
17

|| L]

a. Tanisha b. Harjot c. Both d. none




(11). Write the following in ascending order

a. 84, 36, 28, 64 b. 64, 28, 84, 36

c. 28, 36, 64, 84 d. 84, 64, 36, 28

(12). What comes before and after 60?

a. 61, 62 b.59,61 «¢.61,59 d.58,59

(13) Suneha’s house no is 54 .Show the house number on abacus.

(15) Which is the smallest two digit number made from 4 and 8 (repeating one digit only)
(A) 48 (B) 84 (C) 44 (D) 88
(16) If one clap means 10 and one tweak means 1then 4 claps and 4 tweaks means?
(A) 33 B) 44 (C) 43 (D) 34
(17) There are 33 students in class 2nd . 12 are girls and 21 are boys.which statement is true?

a) The number of girls is equal to the number of boys.

b) The number of boys is more then the number of girls .
¢) The number of boys is less then the number of girls.
d) None of these.




(18) Write 76 in expanded form.

(A) 60+7 (B) 70+¢7  (C) 60+6 (D) 70+6
(19) 50+9="?
(A) 55 (B) 95 (C) 59 (D)

(20) Which numbers will have place in the empty boxes?

b 21, 24, 27 _—L. 27, 2




Worksheet - 2

Subject - Mathematics Chapter-1,2
Count the
R .: L s a ; B ’ oo .
.o.“ ..... .‘ : : .. ¢ ..!
beads. e - . (a)
39 (b) 49 (c) 59 (d)29

What is Rohit’s house

number ?
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EH 40 B 5o H B 5g HH EH 4 HH

Ramesh Rohit Avneet Bunty
(a) forty-nine (b) fifty-nine
(c) fifty-eight (d) forty-eight

What is the house number of next house ?

= =
‘833983 B s
(a) 38 (b) 30 (c) 40 (d) 50

A hungry whale found four fishes. It wants to eat the fish with largest number.

Which fish does it eat? l

<
(a) ' (b) () (c) O @ &




5. I am coming between 29 and 39, you need 4 ones and 3 tens to write me. Find
me ?

(a) 38 (b) 43 (c) 4o (d) 34
(6) How many two digit number can be made from given cards ?

[

] |6| @ 3 (b) 6 () 4 (d 2

(7) Nareash,Sukhdev,babluand Banty have as many numbers of marbles according to the
given table.You have to set the numbers in desending order?

Naresh 57 A 29, 38, 46, 57
Sukhdev 38 B 57, 46, 38, 29
Bablu 46 C 29, 46, 38, 57
Banty 29 D 57, 29, 38, 46

(8) Using digit 5 and 6 make greatest number in two digit ?
(@) 56 (b) 66 (cp 65 (d) 55
(9)What is the place value of 3 in digit 37 ?
(@) 3 Tens (b) 3 Ones () 7 Ones (d) 7 Tens
(10) Write the extended form of 68 ?
(@@ 60+8 (b) 80+6 (c) 60+6 (d) 80+8
(11) make two digit number 70+3=?

@ 77 (b) 33 (¢ 73 (d 37

(12) If one *means ones and one'. means Tens ,then what is the meaning

Of** ** and ...._.

@ 40 (b) 54 (c) 44 (d) 65




(13) Rahul has three chairs in his house .There are 8 guests in his house. How
many more chaires are needed?

=h Rt b
(a) (b) ““(C) (d)

(14) 4 Starting from 30 and steping by 10—10 in 3 steps he will reached at?

[ YaVaVa)

10 20 30 40 50 60 70 =80 90 100

(a) 30 b) 70 () 60  (d) 90

15.There were thirty six pigeons in the garden. How many pigeons would left if twenty
six of them flew away ?

a) 26 b)8 c)4 d)10

16.Amarjeet singh has the following fruits :

25 A A A A A A A A A A A

A A A A A A A A A A AL
L

L

How many more pomegranates than

apples ?

a)6 b)4 o)1 d)5




17.A balloon seller has 36 red and blue balloons out of which 20 red coloured balloons
are sold , Now tell me how many blue balloons are left ?

a) 20 b)16 c)30 d)4o

18.Which of the following coins is a equal to rupees thirty ?

19.How many groups of 10-10 together makes the number 80 ?

a)7 b)5 c)8 d)4

20. 50 guavas fell from a guava tree in the storm .Twenty-five guavas from the guava
tree remained attached.How many guavas there were on a guava tree before the
storm ?

a)35 b)25 c)75 d)40




Subject — Maths Worksheet -3 Chapter—1to 3

Each question has four answers. Tick (\/) on the correct answer.

. Tell amount of the currency notes shown below.

a) 35 b) 25 c) 55 d) 45

a) 5,3 b) 3,5 c)5,7 d 3,3

. What is the place value of 9 in number 29.

a) 9Tens b) 9O0nes c) 2O0nes d) 2 Tens

. Find the next number in the series given below.

40 45 50

a) 51 b) 52 c) 49 d) 55




6. Choose the abacus showmg the number equal to amount of currency notes.

Tens Ones .

d)

7. Which is the number of Gurpreet’s house?
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Gurinder Harjit Gurpreet Harinder

a) Fifty nine b) Thirty nine c) Forty eight d) Thirty eight

8. Jasveer’s uncle gave her two 10 rupees note and she had rupees 35. Tell how
much money she already had?
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9. Tick the correct statement.
a) 20+5 is greater than 35 b) 35 is greater than 20+5

c) 35 and 2045 are equal d) None of these




10. There was 40 students in a class. Among of them 27 students participated in the
race. How many students did not participate in the race?

a) 27 b) 23 c) 13 d) 40
11. Which is the another method to write 5+5+5+5
a) 4x5 b) 5+5+5+5 c) 5+4 d) 5x5%x5x5
12. How many groups_of 2-2 will be formed by stars?
a) 4 b) 2 c) 3 d) 7
13. Choose the correct picture for 1x4
) oee b OO® 4 322 4 ) )y

14. How many groups of 5-5 will be formed?
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15. Which is the another method to write .

a) 3 b) 3x3 c) 3+3+3+3 d) 3-3-3




16. How can we write the fingers of hands in another method as shown in the
picture below?

a) 4+4+4 b) 5+5+5 c) 4x5 d) 1+1+1+1

17. Which picture is showing the group of 7 ?

aa 404 | (604 |[ 4ea
a a 244 Gd || Gy
a) b) c) d)

18. Write the correct answer as shown below.

A A A

- TN
0900909+ 4.4.4.4.4

a) 5x5 b) 545 c) 5x7 d) 5x3

19. Which is the correct answer to count the legs of tables?

L L (A Ln (A Ln (R |

a) 3+3+3+43 b) 4+4+4+4 c) 3+3+3 d) 5x4

20. 6 groups of W cars= ?

a) 6x4 b) 4+6 c) 4-6 d) 4+4




Subject — Math Chapter — 4 Class 2™

Each question has given for options. Tick the right option.

1. The number of Rahul’s car is seventy two which car is belongs to Rahul
from given below.

(@) Cee27>  (b) Ceesa

2. Find my companion ?3@

(a) =~ b) 2 (¢ @ -

3 tens + 5 ones 2 tens + 5 ones 5 tens + 2 ones S5tens +3
ones

3.

cream YYYYYYIYIYIYIIY

caps 900000

laddu

Milk bottle

Which thing is more in number in aiven picture?

o B v o & @

4| am in between 49 and 59. To write me you need 5 tens and 4 ones. Tell
who am i?

(@) 50 (b) 52 (c) 54 (d) 56




5. In summer vacation Aman planted 23 flower and 32 fruits plants. Which
statement is correct from given below?

(a) Flowers and fruits plants are equal in number.

(b) Number of flower plants are less than the number of fruit plants.
(c) Number of flower plants are correct.

(d) All above statements are correct.

6. Here are the list of batsman who made maximum runs in cricket world
cup 2019.

Player’s Name Runs
Virat Kohli 87
Rohit Sharma 92
M.S. Dhoni 56

Shikhar Dhawan 78
Rahul 39

Look at the list and arrange the runs in ascending order.

(a) 92,39,56,78,87 (b) 92,87,78,56,39 (c) 39,56,78,87,92 (d) 87,92,78,39,56

7. Which abacus is show the greater number?




8. In 2"d class there are 12 girls and 12 boys. Which statement is correct
from given below?

(a) Number of boys and girls are equal

(b) Number of girls and more than the number of boys.
(c) Number of girls are less than the number of boys.
(d) None of above statements.

9. If a spider has eight legs then which is the correct answer for the total
number of the legs of spiders given in picture below?

(a) 8x8x8x8x8 (b) 8+8+8+8 (c) 5+5+5+5+5 (d) 5x8
10. Birds given in the picture have__ wings.
(a) 12 (b) 10 (c) 24 (d) 16

11. See and Write

00. 00. 00
00 00 OO

(@) 3times6 (b) 4times6 (c) 3times4 (d)4times4

12. Harpal started to jump from 5 to 3 on which number did she reach to at
her 37 jump?

(@) 12 (b) 14 (c) 16 (d) 13

13. Tell right value of notes and coms glven below

(a) 71Rs  (b) 10 Rs (c)15 Rs (d)25Rs




14. What is total value of notes given below.

(@ 51 (b) 55 (c) 60 (d) 41
= o ] 7 - -

(@) = (b) < (c) > (d) None of these

16. How many 5 Rs coins we get in change of given note?

g (@) 6 (b) 4
| '& T 28 () 10 (d) 7

17. How many twenty rupees notes are there in hundred rupees?

(a) 4 (b) 2 (c) 5 (d) 1

18. 8 ten rupees notes =|:| rupees.
(a) 10 (b) 80 (c) 18 (d) 8




Class-2 Worksheet-5 Subject —Maths

1. Which house number is the smallest two digit number?

2. Ll 4 times 5=
(A)4x1 (B) 5 (C) 4x5(D) 4

3. Which statement is correct for 3x9?

(a) There were 3 birds sitting on the tree, 3 flew away.

(b)Sukhdev distributed 9 biscuits equally to his 3 friends.

(c) 9 children were playing in the field, 3more children came.

(d)Avneet eats three cashews everyday, how many cashews will he eat in
9 days.

4. Which note is worth more?

(a) the price of (i) is higher.

(b) the price of (ii) is higher.

(c) the value of (i) and (ii) is equal.
(d) none.

5.if you have one note of Rs. " -land Rs .7 then tell how much
money you have?
(A)60. (B) 70 (C)80. (D)90




6. Choose the correct answer for 20 rupee notes instead of 100 rupee note.

AFEdl ©F'Ed ©°'=a ° =3
Brtdl i =dl L =)

el et et Bl Ba
DI EA i

7. Choose the correct answer to equal Surjeet and Manjit's bucks.
Surjit. Manijit

G CRe-CE A
(A) 10Rs. (B)20Rs. (C)50Rs. (D)5Rs.

8. Which is an example of a cone in the pictures below?
AlB~Cc?” D€

9. How many diagonal lines are there in the diagram
(A) 1 (B)2 (C)3 (D)4

10. This hanger has....... horizontal lines?
(A) 4 (B)3 (C)1 (D)2




11. Which of the following does not have a straight line?

12. Holding a thread from both sides and pulling it tightly gives the thread
the form of........
(A) circle (B) straight (C) square (D) none

13. has...... lines and ..... corners
(A)One,two (B) one,one (C) zero, zero (D) two,two

14. In which diagram are three triangles formed ?

A 2 g9 C+ D

15. How many corners of
(A)two (B) four (C)three (D) none

16. ©“What is your bicycle wheel like?
(A)Triangle(B) rectangle(C) square (D)circle

17 The electric pole in the street is example of which line?
(A)Horizontal line(B) vertical lines (C)slanting line (D)curved line




18. There are girls named Lakshmi, Siya,Priya and Sonam in second class.
Their weights are 22 kg.,27 kg.,35 kg.and 29 kg. respectively.
(1) show the weight of all in front their names.
Name. Weight
Lakshmi. rreraaeas
Priya. ...
Sonam.
Siya. =

19. Write the name of the highest and lowest weight baby as above.

20. Fill the small numbers with blue and large number with red.

W W




Class-2 Worksheet-6 Subject —Maths

1. House of Meena, Riya and Reeta are serial Wise in same street. If Meena’s
house no. is 88 then what will be house no. of Reeta?

~ -~ - A.87 B. 80
O Hg @ - C. 88 D. 90

Meena Riya Reeta

2. What number would be between 75 and 77?
A. 73 B.74 C.76 D.78

3. Ram reach on number 3 in first jump and number 6 on second jump. On which
number will he reach in third jump?

A.3 B. 12 C.9 D.6
4. What exactly is the house Bl ™ number after?
A. 38 B. 30 C. 40 D.50

5. Choose the number of pearls in both counts?

AL

|
= Se—= =

A. 40 B. 24 C.15 D. 39




6. Raniis to make a garland of 20 pearls. She has 14 pearls.
How many more pearls does she need for the garland?
A. 20 B. 14 C.34 D.6

7. How many groups of stars can be made with 3 stars in each group?

_\_\f_xf_'x_\_MJ_x_\/_Mf_\)_\_\f_x_}_x_\
o o o o o o o o o o o e e

8. Count and tell:

00 00 00 ©0 00

times 5 C.3times4 D.4times 4

A. 5times4 B.4

9. How much is the money. Count and tick the right answer:

A. 16 B. 25 C.40 D. 38




10. 50 rupees =

A ™ i w
B =8 =) J:u =) -
= . ™ al | (2]
i} [ " H L]
11.Which shape is Rl this?

A. Cone B. Cuboid C. Cube D. Cylinder
12.What is name of this figure?
A. Cone B. Cuboid C. Cube D. Cylinder

13.Select odd one out:




14.Select the appropriate item instead of ‘?’

/e /e ge ?
A _ B-ﬁ c. @ .

15.Which shape is required to move the pattern forward?

oY <= 3 O W
S AR I B e ST e

16.Complete the Sample:

e RRes R BR2S B
8y 88 44 8, e84, ¢

o O "
Boocn
00"

oo )
w0 f




18.Which of the following is lightest?

19.Geeta’s ribbon is as long as 20 match sticks and Reeta’s ribbon is as long as 16
match sticks. Whose ribbon is longer and how much?
A. Geeta’s, 9 match sticks B. Reeta’s, 4 match sticks

C. Geeta’s, 4 match sticks D. Reeta’s, 9 match Sticks

20.(i) Weight of - is than
weight of %

A. Heavy B. Light C. Same as before D. None of the above

(ii) There are 10 oranges in a basket. We took out 4 oranges. The weight of
Basket

A. Light B. Heavy  C. Same as before D. None of the above




SUBJECT MATHS CHAPTER-1TO 8
WORKSHEET - 7

1.Harish’shouse number is forty nine. Tell me which is his house ?

B B
B 5o & B 39 @ H o B
a) b) c) d)

2 .How many numbers will be formed with the given cards ?

a) 3

3.How many ones and tens in number eighty nine ? Write the number in digits .

b) 1 c) 4 d) 2

[Tens ones E

in digits -----
a) 8Tens and 9 Ones

b) 7 Tens and 9 ones

c) 9 Tens and 9 Ones

d) 5Tens and 9 ones

4. There are 62 bananas on a banana ‘s plant . The monkey ate 30 of them, how
many bananas are left on the plant ?

a) 22 b) 32 c) 19 d) 92




5. The figure below shows the oranges eaten by different children : -

il TS

How many oranges did the children eat ?
a) 40 b) 42 c) 35 d) 45

6. 5+5+5+5+5+5+5 = 7x

a)6 b) 7 c) 4 d)5

7. 3 blades of fan but 4 times = 4x

a) 6 b) 2 c)a d)3

8. Which notes will Ranjit Singh use to buy the ball from the following toys ?

BRUMELLL




9. Look the pattern carefully and move on :--------

ANAANXEKAAA
AA » A XXX

a) b) C) d)

10. Find the given shape :

a) b) c) d)

11. Which pot will have highest amount of water ?




a) b) ¢) d)
13. What time is it when you get ready and come to school ?
a) night b) evening c) afternoon d) morning

14. When grandmother tell you story ?

a) b) c) d)

15. ST Look at the picture and tell me in which season you eat
this fruit ?

a) summer b) autumn c) winter d) spring
16. How long does a tree grow ?
a) in hours b) days c) years d) minutes
17. In which month school has summer vacation ?

a) December b) April c) February d) june




18. " Look at the picture and tell us during which month we

use these clothes ?

a) June b) July c) August d) January

19, L mewwws® __ In which month the festival of Lohri come ?
a) June b) February c) January d) April

20. match :-




O

Subject — Math Class 2 Chapter — 8

Each questions has four options. Tick the right answer.

1. Number of more leaves are

Seel
SIS
oo

pPppy £ L &
seus | SSST
pPpypy 2 XX

(@)

(b) (€)

2.1 amin between 35 and 45. To write me you need 3 tens and 7 ones. Tell me

who am i?

(a) 30 (b) 32 (c) 37 (d) 35

3. There were 30 students in a class. Among them 20 students take part in race.
How many students we there take part in race?

(a) 20

(b) 30 (c) 10 (d) 40

4. Tarleen,Manmeet and supreet have balls as given in table. How many balls do
Tarleen has more than Manveet?

Name Balls

Tarleen L A A A A 4 A A A A A AL DL
Manveet OO 90O 00O OO

Surpreet

(a)38 (b) 5 (c) 3 (d) 4




5. 4x8=

@)8-4  8:4 (c)8+8+8+8  (d) 8+4

.'@ @ OOO @

7. Put tick the against greatest currency from given below.

(@) ?ﬂ ’1 (b) { ﬁ (©) fo. 9! ne

8. Which line represents the diagonal line from given below?

(a) " ) ™~ (c) l (d) \

9. Here are the price of things given below.With the help of three prices fill in the
blanks given below.

‘ﬁ T = ﬂ|
| | | | | | |

:,.p il

25 Rs 10 Rs 20 Rs 65 Rs

@) - F o
o)+ § D




Rs

10. Beak, wings and tail of a sparrow represents which type of shape?

=

(a)circle (b) Square (c) Triangle (d) Rectangle

11. Which number of kitesat _?  from given below.

12. Which is used from given below to know whether the things are heavy and
ligh =17 ¢

-w L\

(a) b) s © ()

13. Length of a table is 15 hand spans length of a blackboard is 20 hand spans.
Which has short length?

(a) blackboard (b) Table (c) Both are equal in length (d) None of these

14. Complete the pattern:-

(@) by . (@ - (d




15. According to calendar which day is falls on 23 September?

(a) Wednesday (b) Monday (c) Saturday (d) Friday

SUN MON TUE |WED THU| FRI |SAT
1 2 3 4 3 6 7

8 9 10 11 12 13 14
15 16 17 18 19 20 21
22 23 24 25 26 27 28
29 30

16.

Day Present Student
Mon & 38 3 3¢ %

Tue EHWDHWD

Wed & 3%

Thu MDD

Fri e
Sat eI

(i)  On which day less students are present?
(a)Monday (b) Tuesday (c) Friday (d) Wednesday

(i)  On which days equal number of students are present in the class?
(a)Monday, Tuesday (b) Tuesday, Saturday
(b) Thursday, Wednesday (d) Thursday Saturday

17. Bags Number of Man_goe

e - - - = e =

1

2

3

4

5

(i)  How many total mangoes are there in bag no 2 and 5?7
@5 (b)8 (c)3 (d) 10

(i)  Which bag has least mangoes from all bags?
(@1 (b)4 ()5 (d) 2




18. A Shopkeeper has vegetables as given below.

Potato

Comsicu | ) ) ) ) ) O
a1 L 1 L& L X3

o | OO e®
s \JIILISLL SIS/

Which vegetables is least in numbers?

(a) Carrots  (b) Tomato (c) Potato (d) Capsicum

19. Which clock represents your school going time (summer) from given below?

(@) . (b)

20.Which Vegetable is more in number from above chart?

(a) Carrots (b) Onion (C) Capsicum  (d) Potato




n Class 2md worksheet-9 “
Each question has 4 options. Tick the correct option.

1) How much itis?

E' E: § -. e
SEEEEE -
Y e =
1)69 2)79 3)59 4)89

2)Answer the questions according to the table given

| D'a}:s of weeks 'Tepwperature{in degree)

| Monday 33

| Tuesday T |
Wednesday 4] 1

_— Thursday _ 24

below.
a)Tell the highest temperature in the week ?

1) 33 2)41 3)24 4)38
b)What is the temperature on first day of the week ?

1)33 2)77 3)30 4)38

3)A balloon seller has 36 balloons of red and blue colors, Out of which 20 red

balloons has been sold .How many blue balloons he had ?

(9900000000 0000000000
\QQQQQAQAAAA°92QQ

1)17 2)23 3)16 4)40




4)Gashmi’sMami gave her two notes of 10-10 and she has 51 rupees total now.
Tell how much rupees she hadbefore ?

O] =1 -Ne -NE
() | Y e
B W LS

==

1)37 2)36 3)38 4)39

6)Write the multiple addition into multiplication .

OO

. 0. 00X

RRAVRARBRADBRA DR DR DR

7. Rasleen has 15 lollipops. It has been divided into groups of 3. Which is
correct group?

NPV, VLT, YV

) DEVR K TRV | LAV L AT VW
c TV KL VY K TPV , LYV

0 LIV|VV. , LAV, VR




8. Gurinder hasRs '

PARI

Who has more money?

Z]

a. Pari b. Honey

S @)

a. circle

O

11. Complete the following pattern

\5:>\ﬁ4 !'1"\ 66 )Qi?\( 68) /\/\\

a.69,70? b.68.67

c. 68, 69

d. 66, 67

c. both has equal money
10. Which shape has come four times?

W= He has bought following things
Thing Cost (in Rs)
= 10
vy
-— 55
M 05
How much money left with him after buying these things?

9. Pari and Honey has money mentioned below

d. no one

b. triangle c.square d.rectangle




12. Which is the heaviest thing from following pictures?

ChlyasliCE JNCR 0N | §

13. What can be used to measure the weight of watermelon?

Wla:l ® 20 L2 o

——

14. An electric pole in a street is an example of which line?

a. Horizontal line b. Vertical line c.Diagonalline d.Curved line

15. Select the appropriate alphabet below to complete the series:

W M W M W M ? M
(a) E (b) ™ (e) N d w

16. Raman is bigger than Ajit, but smaller than Muni, who is the biggest ?

(1) Muni(2) Raman (3) Ajit (4) None

17.

First | Seco | Thi | For | Fift | Sixt | Seve | Eig | Ninth | Tent | Eleve | Twelf

Mon | nd rd (th |h h nth | hth | Month | h nth th

th Mont (Mo [ Mo mo | Mo |Mon | Mo Mon | Mont | mont
h nth | nth | nth | nth | th nth th h h

Janu | Febr |[Ma |[Apr |Ma |Jun |July | Aug | Septe |Octo | Nove |Dece

ary |uary |rch |il y e ust | mber |ber |mber | mber

31 28 31 |30 |31 |30 |31 31 |30 31 30 31

There are -------- months in a year.

() 31 (b) 365 () 7 (d) 12




18. Which statement is incorrect :--

(a) The calendar tells us about the days. (b) The calendar tells us about
the weeks.

(c) The calendar tells us about the months. (d) The calendar tells us about the

way.

19. your mom uses rolling board ( chakla) what is its shape ?

(a O (b) (©) @\

20. Read the picture graph and answer the following questions.

Namn"ﬁeclar.ccn“ Nl-lmber of stuﬂents who like | which two cartoons liked by the equal students

'(;';‘ R (30h (0T (27 ‘
I yYyYY (a) and i
"Y' ¥ Y Y Y (b) ﬁﬁ and

——

) <@ and

B2

and

%

ba

D Wy

(d)

B 4 o | ® X S




Class 2™ Worksheet -10 Chapter-1to9

. See picture and give answer of the following:
| s | 55 |} — 57 |

(a) 50 (b) 52 (c) 56 (d) 58
ey given below.

194 362020, S84

40 (b) 30 (c) 20 (d) 50
. Manmeet has 3 note of rs 10 and Surpreet has 2 notes ofrs 10 . How
much total money they both have together ?
(a) 40 (b) 50 (c) 30 (d) 20

. Count the number of balls.

e @ @
(1w +“'{' + (1w

(@ 4+4+4+4 (b) 3+3+3
(c) 4+4+4 (d 3+3+3+3

Count the number of triangles in given picture.

e "I

(@) o (b) 7 (0 4 (d 5

Which utencilcotains maximum water ?

(@ * (b) (c) (d)




7. See the pictograph and give answer of the following question:

Eatable Number of children who like
things

A

B ooco®

What is most favoutritething ?
(a) ice-cream (b) toffee
(c) colddrink (d) ice-cream and toffee

8. Find the value of ball:

R R
86786 86786

(b) & | /@9 mi, /@9 w4 x

e

Botrs WO e T W T W LT T W
86766 986766 986766 86766 986766

(C) m/@J w® /@J w® ﬁo;«; ! (d) Uiowﬁ*g .;. %20%0« /@;\J m RN /@J w

9. How many ones and how many tens are there in number forty six? Also

write forty six in numbers and words.

tens Ones

In numbers......ccccceeeeee IN WOrds......cce e ververnsnnnsees




10. I have to make a garland of 45 flowers. I have 35 flowers, how many
more flowers do I need to make the garland?

35 | 4| ? :. 45

11. complete the patterns:

(a)
| AB | CD | | GH | | | MN |
(b)
|5 | 10 | 15 | | | 30 |

12. Put the right sign ( N ) next to the right statement and the wrong sign
(x) next to the wrong statement.

(a) The greatest number of two digits is 10. ( )
(b) The smallest number formed by 2 and 5 is 52. ( )
(c) The smallest number is 75 out of 76,75,77,78. ( )

13. Fill in the blanks:

OO

(ii) 89 79 (>,< =)

(iii) The place value of 7 out of 27 is......cccvurerrrn

14. There are 28 stories in a story book. Raman has read 20 stories from that
book. How many more stories does Raman have to read?




15. subtract 46-28 (by breaking a number)

(==

How many children will be divided into 12 cups in groups of 2-2?

18. Answer the following questions by looking at the picture of house :

\l\\\\\\\

Q 1. State the number of vertical lines
Q 2. State the number of horizontal lines
Q 3. State the number of diagonal lines

19. See the Calendar of 2019:-
JULY 2019
Su Mo e Th Fr Sa
| 2 3 -4 5 =Y
ra = b (o] I 1 122 13
I = I 5 I & 17 18 | = 20
21 22 23 2= 25 25 27

28 2> 30 31

B =lasmy shock pEsobo

Q 1. Whatis the day on july 17, 2019 ?
Q 2. Write the date of the first Sunday in July month ?




20.

= 5 Runs

NAME OF PLAYER RUNS MADE

Raman CeCEC C

Gurpreet Singh ¢ceceC e

Agam Q&Qﬁiﬁﬁ;ﬁi
Pardeep CECECE

Amanpreet ‘ G ‘ ‘- ‘

Q 1. Which player has scored the most run?

Q 2. How many runs did Agam score ?

Q 3. How many runs did all the players score together ?

Q 4. Which two player score equel runs?




	1)Tell the amount of notes:

